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FHER BIERER
BEn#s IFE




BERRE

FHEFERATE (REMR)FRIRZ (RR) EETE (F2R)

% b I - KT B B = i & ) #
EEISE 68,512, 301
T iR 68,512, 301
H@ET 29, 526, 500
HEsaT 29, 526, 500
Higien 18,418, 749
1 EBtgR #AL5~100kg/EREE KERSD : 10~20mKiH 2,011.00 9,159 18, 418, 749
m3
BREHL 11,107, 751
2 EmEaEnLd) +50cmKH L) KERS : 10mkH 1,396. 00 6,198 8, 652, 408
m2
3 EREAERHLQ +50em(KFHL) KERS : 10~15mKiE 319. 00 7,697 2. 455, 343
m2
HET 38, 985, 801
WEET 38, 985, 801
wER 18, 605, 550
4 HER MAET, 000kg/fEIEE KRR : 10~20m=KiH 1,775.00 10, 482 18, 605, 550
m3
wEL 20, 380, 251
5 wEHLM +50cm OKsgL)  KEEXS : 10m*kiE 1,937.00 8,123 15, 734, 251
m2
6 WEHLQ +50cm (KHL)  KEXS : 10~15mki 460. 00 10,100 4, 646, 000
m2
HBERHRE FEL) 6, 647, 265




BERRE

FHEFERATE (REMR)FRIRZ (RR) EETE (F2R)

) % b B - Bkss B 2 i & | ]

HBERE 6, 647, 265
HBRRE 6, 647, 265
REH 6, 505, 265
=25 374, 400
1 TiRERE 10-AZ 1.00 374, 400 374, 400

=%
REME 6, 130, 865
8 REEMM plaR (= 30T 1.00 6, 130, 865 6. 130, 865

=%
RiTEEE 142, 000
BirgE 142, 000
9 HEEE EZAYUTHE(IIR) #REGARE 1.00 142,000 142, 000




WIER FHEFERATE (REMR)FRIRZ (RR) EETE (F2R)

% g & - BARTE Bifg B 2 B ® & wmzE
EEIEH 68,512, 301
MEIRR 11,799,389 + 19,049, 932 30, 849, 321
HBEREE GDH 6,647,265 + 4,638,282 + 513,842 11,799, 389
HBEREE (BE) 6, 647, 265
HBRERE (%) 68,512,301 x 6.77% ((5.14% x1.00 +1.50%) x 1.02) 4,638, 282
BSBRENER 68,512,301 x 0.75% 513, 842
RISEER 80,311,690 x 23.72% ((22.02% +1.01% x 1.03) 19, 049, 932
TR 68,512,301 + 30,849, 321 99, 361, 622
—REEEZ 99,361,622 x 17.11% (17.11% x 1.00) — 2,139 16,998, 634
R#RILH 99,361,622 x 0.04% 39, 744
TSt 99,361,622 + 16,998,634 + 39, 744 116, 400, 000
HBEREHELE 116,400,000 x 10.00% 11, 640, 000
FRIZR 116,400,000 + 11, 640, 000 128, 040, 000
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H .
B EfIEn #A5~100kg/ERRE KERHD : 10~20mKiH 1000m 34 Y
2 o g - BIRTE BT H = B ff %8 " =
A 5~100keg/fEFEE (B LIAEL)
m3 1, 300. 00 6, 800. 00 8, 840, 000
Bkt D 270PSE! 3~5tA
B 1.44 189, 955. 00 273,535 8H
MM 2KDY%
% 0.50 9,113, 535. 00 45, 567
& B YEZEHREH : 1,000.00m 3 9, 159. 00 9,159, 102
&5 :2
L% LAY LA)  £50emKHHL) KERS : 10mEiE 1THHY (30.8m2)
2 £ g - BIRTE BT H = B ff %8 " =
Bkt D 270PSE! 3~5tA
B 1.00 189, 955. 00 189, 955 8H
MM 2RD%
% 0.50 189, 955. 00 949
& B YEZERES : 30.80m 2 6, 198. 00 190, 904
5 :3
L5 EBERTHL Q) £50em(KBEL) KERSH : 10~15mKiE 1THHY (24.8m2)
2 £ g - BIRTE BT H = B ff %8 " =
Bkt D 270PSE! 3~5tA
B 1.00 189, 955. 00 189, 955 8H
MM 2KDY%
% 0.50 189, 955. 00 949
& B YEZERESN : 24.80m 2 7,697.00 190, 904
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x5 :4
& WHEBER A1, 000kg/BEREE KFERS : 10~20mEKiH 1000m 34 Y
2 L7 g - BIRTE BT H = =i} ® " =
e 1,000k g /EFEE CBEHRAEL)
m3 1, 300. 00 7, 800. 00 10, 140, 000
Bkt D 270PSE! 3~5tA
B 1.53 189, 955. 00 290, 631 8H
MM 2KDY%
% 0.50 10, 430, 631. 00 52,153
& B YEZEHREH : 1,000.00m 3 10, 482. 00 10, 482, 784
F5:5
B HEBEHL () £50cm (KeptgL)  KERSD : 10mEKiF 1THHY (23.5m2)
2 L7 g - BIRTE BT H = =i} ® " =
Bkt D 270PSE! 3~5tA
B 1.00 189, 955. 00 189, 955 8H
MM 2RD%
% 0.50 189, 955. 00 949
& B YEZERESN : 23.50m 2 8,123.00 190, 904
F5:6
B HEHL (2) x£50cm (kL) KERS : 10~15mKiH 1THHY (18.9m2)
2 L7 g - BIRTE BT H = =i} ® " =
Bkt D 270PSE! 3~5tA
B 1.00 189, 955. 00 189, 955 8H
MM 2KDY%
% 0.50 189, 955. 00 949
& B YEZERESN : 18.90m 2 10, 100. 00 190, 904
&5 :1
B KTIEERE  10-AZ 1KY
2 L7 g - BIRTE BT H = B ® 5 " =
KTiFEHE g L—dkE
& 2.00 187, 200. 00 374, 400
& it 1E%8EH : 1.00= 374, 400. 00 374, 400
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THEFEERRTE (FEMR)MKR (RR) EETE (F2R)

F5:8
& REERN ELIEXHM 1KY
2 o g - BIRTE By = =i} ® W= " =
ZEERM FRP D 180PS%!
B 59. 00 103, 396. 00 6, 100, 364/6. 00H / 8H
MM 2{KD%
% 0.50 6, 100, 364. 00 30, 501
& B 1E%8EH : 1.00= 6, 130, 865. 00 6, 130, 865
F5:9
&% HiTEEBEE T4V URE( IR HRBREIRFAE 1XEY
2 £ g - BIRTE By = =i} ® W= " =
EZAYVTREE
I 1.00 42,000. 00 42,000
EREYRAEE
I=E 1.00 100, 000. 00 100, 000
& it 1E%8EH : 1.00= 142, 000. 00 142, 000




